NOTES: UNLESS OTHERWISE SPECIFIED
PROPRIETAI

RY NOTICE
INFORMATION CONTAINED ON THIS DRAWING IS PROPRIETARY
TO TARETT ENGINEERING AND MAY NOT BE COPIED, REPRODUCED
NOR PARTS MADE THEREFROM WITHOUT WRITTEN PERMISSION
RO ETT ENGINEERING.

REVISIONS

LTR

DESCRIPTION | DATE | APPD

CONNECT TO STRUT

CONNECT TO SWAYBAR

PART NUMBER

DESCRIPTION QTY. NOTES

DL996F-05

996/9971T FRONT DROP LINK

MM-M14T

ROD END, M14-2.0 MALE APPLY OIL TO THREADS

MB-M14T

M14 ROD END (RIGHT HAND THD) APPLY OIL TO THREADS

MT4LX2.0NTIJM

JAMB NUT, M14-2.0, ZINC, LEFT
HAND

M14X2.0NTJM

M14 X 2.0 JAMB NUT R.H

TARETT

ENGINEERING
Compefition Suspension Components
557 W. SUNSET. RD.
HENDERSON NV, 89011
Tel: (858) 674-5573
WWW.TARETT.COM

O |00 (N[N N[ WIN|—

TITLE:

996 TT FRONT DROP LINK

M10X55HXHD M10 X 55 BOLT

SPCRMT14-02 ROD END SPACER MT14 X M10 SH

M10X1.5NTLKFL NUT, MT0-1.5 NYLOCK FL, ZINC TORQUE TO 37 FT-LBS
M10X80XHXHD M10 x 80 BOLT

SPCRM10.45 M10 FLAT WASHER (THICK)

SIZE | PART NO: REV

B 996TTFDLNK

—t— —
Lo

CDCRANITA ﬁ'!

NININIAIONININI N INNIN

RODPD END SPACER MIAN NMIOILC
RO LCIND O oo

SCALE: N/A | SHEET | OF 1

T INTVIET=TU

72N C LIN TV = 78TVl |-




	Sheet1
	Drawing View9
	Drawing View10


